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Marko Klasinc 

c. Pal Benko MT 2020 

 
H=6.5  4 + 12 

C+ 

 

1...  Kg3?  2.exd6?? 

1...  Kh3!  2.g1B Bh2!  3.Bc5 Kg3!  4.Kd6 b3  5.Ke5 Kxf3+  6.Kd4 Bd6!!  7.exd6 Kf4 = 

 

Black move 3.Bc5 prevents black king to move to d4 via c5. It must move over d6. White Indian 

hideaway to h2 enables it. White bishop then returns to d6 to be finally captured. 

 

First ever presentation of captureless combination white Indian (Bh2-Kg3) and square vacation 

Klasinc theme (wB- bK on d6) in one line of play. 

  



G2  

Marko Klasinc 

c. Pal Benko MT 2020 

  
H=8.5  2 + 11 

C+ 

 

1... Bd2  2.c1R! Bxe1  3.Kxe1 Kg2  4.d2 Kf3  5.Kf1 Kxe3  6.e1Q+! Kd3  7.Qe4+ Kxd2  8.Qh1 Kxc1  9.g2 

Kxd1 = 

 

Sacrifice of the only white piece. Two black promotions. From the diagram position it looks that only 

Pd3 and Pg3 should be removed to achieve stalemate. 

  



G3  

Marko Klasinc 

c. 240 TT SuperProblem 2020 

 
H=6.5  3 + 8 

C+ 

 

1... Bxb2+  2.Rxb2+ (2.Bxb2? stalemate!) Kc1  3.Rc2+ Kd1  4.Rc3 dxc3  5.d2 Kxd2  6.b2 Kc2  7.b3+ Kb1 = 

 

Rundlauf of White King. 

  



G4  

Marko Klasinc 

2nd H.M. 240 TT SuperProblem 2020 

 
Hs=6.5 6 + 5 

C+ 

 

1... Ke6!  2.Kf4 Be8!  3.Rg3 Bb5  4.Rg1 Bf1!  5.Kg3 Bh3  6.Re1+ Kf5  7.Re5+ Kxe5 = 

 

Klasinc theme wK-wR on g3. 

 

Theme of TT: 

In a diagram position of hs=N.5, White is already stalemated.   



G5  

Marko Klasinc 

7th H.M. 240 TT SuperProblem 2020 

a) b) c) 

     
Hs=4.5  ( 5 + 9 ) 

C+ 

 

a) diagram:  

1... Bf6  2.h8R Bg5  3.Kg7 Ke7  4.Kh7 Kf8  & 5.d8Q+ Bxd8  = 

 

b) final position of a):  

1... Sf6+  2.Kxh6 Sxg8+  3.Kxh5 Kg7  4.f8Q+ Kxh8  & 5.Qg7+ Kxg7  = 

 

c) final position of b)  

1... Sf3  2.Kg4 Bb6  3.Kh3 Bg1  4.Kg2 h3+  & 5.Kh1 ~  =  

 

Theme of TT: 

In a diagram position of hs=N.5, White is already stalemated.   



G6  

Marko Klasinc 

G404 SuperProblem 2021 

  
H#2  ( 3 + 15 ) 

a) Andernach Chess 

b) Take&Make Chess   

C+ 

 

a) 

1.f1=R Qf3+  2.R1xf3=w Rg3 # 

1.f1=B Qg2+  2.Bxg2=w Bh3 # 

 

b) 

1.Sg2 Sxe2-e1  2.e2 Sxg2-e3 # 

1.Rf3 Sxf3-g3  2.Kxg3-f1 Qh1 # 


